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Note : The Question paper is divided into three sections A, B
and C. Give the answer according to the directions given
in each section.

AT : I% WY U HAY: &k, @ WA T oI @er W faurfia
21 v ©g & FEemrEr wwE & s 9

Section-A,/ @S-
(Long Answer Type Questions) &€ 390d U9

Note : Answer any two Questions. Each Question carries 15

Marks.
e ;. fagl o vl & SOT SN weem we 15 3 @
iy (2x15 =30)
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1. Discuss the concept of demand. What are the factors held con-
stant in defining the law of demand ? Explain.

i o foar 61 wwgmsy) 6 % fem o e o
foF aaal B fer wF fomn S 22 = w1

2. What are the indifference curves ? Discuss and depict

equilibrium with the help of indifference curves.

Al ook 1 BId €7 LUl okl whl WETEl W e
=t fafa wifse qen g9smww

9%}

Discuss the laws of returns to scale.
TR & yfawa $ e & =men st

4, Discuss the following;

(@)  Consumption-function. (5 marks)
(b)  Monopolistic Competition (5 marks)
() Iso-quants (5 marks)
=1 =t wmemy

(31) 3TN | (5 %)
(9) THIYHRT wfaaifia (5 %)
(9) ¥R o5 | (5 %)
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Section-B,/ @s-@
(Short Answer Type Questions) g I U

Note : Answer any four Questions. Each Question carries 5

Marks.
e ;. ol o uot & S ST e w9 5 3{enl T
21 (4x5 = 20)
1. Scope of managerial economics.

g ST &

2. Exceptions to the law of demand.
o & fEm w1 R

3.  Income effect with the help of indifference - curves.
L okl i HEEAl § STI-FWE|

4.  Comparision between cardinal and ordinal utility approaches.

SR 1 wHaTaw qel HedErEsd Afae § gl

5. Measurement of National Income in India.
AR o TSI S |
6.  Thelaws of production

I (Idfd) & fm
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7. Product differentiation
Iare fauiemto

8.  Monopoly equilibrium in short-run

UHTA H UHIUHR 1 HIeH|

Section-C/ @8-
Objective Type Questions (Compulsory)
TR ue (AfrEr)

Note : Answer all Questions. Each Question carries 1 mark.

He : | AT & I AW TEE U 1 3F T R
(10x1 = 10)

Answer the following in one orin a few words :
5 & W T O P v § T -

1. The curve depicting, alternative combinations of goods and
services that can be produced by a society with given resources

& technology is known as .................. .

8 g% S, ‘Fifvead daredl o) aRle B WY T 99
% R IO i W1 Gk arell oegell iR denedl W
Sepfeas HAT ST €, o e ¢
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Point of inter-section of demand-curve and supply-curve is

knownas .........c..... .
HiT-aeh e gfi-ah & Her-fag ® ¥ wed 2

In graphic measurement of point-elasticity, if lower segment of

the tangent is bigger, the elasticity is .......cceueeuc. .

fog-<ia & sanfirdts oA o aft wost Y@ & = &1 9w
E T P = 1 B M O BIt?

At a point where Total product (TP) is maximum, Marginal
product MPis ..o .

39 fag W, W&l %o s@RA (TP) fuwaw =, i
IR (MP) T &I?

What is the market-structure, if the product does not have close
substitutes and the firm has full control over the market?

Ifg Ierg % Fehead! T 7 f @R wH w1 9N W
o =9 &, @ IR 1 @eY (@) 99 g

Indicate the correct answer-option in the following :

= weAt W W s-faeren fafea =ifam

Which of the following is not a property of indifference-curves?
(a) Concavity

(b) Negative Slope
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(c) Non-intersection

(d) Curve toright denotes higher satisfaction
= § ¥ qewer ol ® U foRimar i 22
(a) TAIRT B
(b) EOTHE BTl
() TH-TW & 7 FeAl
(d) A 3 * ok Iea-Hqfe weifa s 2
7. Which of the following correctly denotes to Giffin's paradox ?

(a) Inferior goods are the Giffin-goods.
(b) When price falls, demand of inferior goods does

notincrease

(c) When price increases, people buy more

because price may rise further.

(d) Alltheabove
=1 9 9 oo S R 9 fiifte = forieny e =t s 22
(@) Fr=t Fife B owqd, fifter-aegd )

(b) Tea it w ot =7 wife =t aggetl =0 @
BRIl

137/280/56 6



(©) Iea & W o wfgs w1 3R gea-dfg
# SR ¥ e wg w2
(d) 3wt
8.  Under perfect competition, which of the following is correct?
(a) AR=MR (b) AR isabove the MR
(c) MRisabovetheAR () None of the above
ol gfEifiar & fre o 9 w0 i @2
(a) AR=MR (b) AR, MR ¥ & T& 2|
(c) MR, AR ¥ &% & 21 (d) 399 ¥ =i &l

9.  GrossNational income minus, Net Income from abroad is equal

to;

(a) Net National Product
(b) Gross Domestic Product
(¢) GrossNational Income

(d) Netdomestic Product

el T2 99 § 9 9t ke @ g1 Al s o e
& S @ oW 9 S 22

(a) S TEE IR (b) TFA <M SR
(c) T%al U 3 (d) IS 3T SR
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10.  Therate at which one input can be substituted for another without
changing the level of output is known as;

(a) Marginal Rate of Technical Substitution (MRTS)
(b) Marginal Rate of Subs itution (MRS)
(c) Average Rate of Technical Substitution (ARTS)

(d) Average Rate of Substitution (ARS)

9 W o W SART & Th WTh w g H WH W
yfaeenfua fohen ST ®, SEfh SARA & &R § uiEdd |
foran S, wEardt 872

(a) deien Gfaeeme &t o X (MRTS)I
(b) ufaeeme ki HiEd <X (MRS)|

(c) TR gfceemod &1 Sied ¢ (ARTS)I
(d) wfceena wt 3fed 2 (ARS)!

137/280/56 8



